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kxercise 2.1

Identify the domain and range of the functions through following graph.
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2. If f(x)=5x+2and g(x) = 2x? — 3, then find
(1) fog (1) gof (1) fof (v) gog

(1 f"g(ﬂ = f(‘é(ﬂ) = O+ R = 5 (27&—3} + 2
=[O - 15+R
- 10%x -3

O go]((aq; g< JC(’Q> - 2(]((1) )L - 22(5x +R 5-3
:2(25£+4+201> -3
= SQ)(L-l- 8"'401 —3
pu 5078_-% ‘tOX +5
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D,

If f(x)=2x and g(x) = x + 1, then find fog(x) for x = —5.

. (0 = (\3+6(\>+q
213( - 1+68+9 = [&

If ¢(x) = cos x and p(x) = x* + 1 then find poc(x).

poc @ =P (€®) = () +
3

= (COSX> + \

a8
= CO.SX"'\".



6. Given that f(x) =x+ 2 and g(x) = 3x — 2 are two given functions then find
(fog)™! and (gof)~" also show that (gof)™* = f~log™".

{0%(1\:}(%(’:0) = g(x)*il '-7-(3'* "'2)"‘2 - 31"%'%/ = 33X
\—-d: »'\(1): :{ybg(’()

\n(x\ = %

_ 3)( SUP PO.SC. ‘ﬂ:!\\(x}
"—'> \f\ (n) = K
4 ==
>
x = .@3,
h(g) = L
REPIZCQ a wi-ﬂ\ % -

3 Jc(x\ g(;‘m) 3460 -2 = 3(x4R)-R = 3x+6-R = 3Ix+4
Lt W0 (g0 e

L‘:(’Q — A3x+ l‘} S‘*PF%Q d= \'\\(X}
a = 3‘7(-\-4 = »\-\ _ X
3x= Y4 ()
A= t‘*
e~ 3
N (y) = 4°F
=
RQP‘&(Q a UUI-H,\ X —
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et ‘C\"S(") "‘>§“(d):x
‘a =142
d -R= %

% =Y -2
fp=g-=
Ref\ace,‘d b\).l*H,\ X
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Q@A) = 3x -
Let d"-%(x)
a = IX—=R
d+R = 3%
e 132
~t 3
g(d) - 4+t2
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7. Given that h(x) = x =3 and k(x) = 2x + 5 are two functions then verify that:

(i) hok # koh (i) (hok)™ = k~loh™! (iii) (koh)™* = h~lok™!
LHS

’
c—

(l) \r\o\( ()= "\( l&(z.)) -] \((x.)-—3 - 21‘?5 -3 - 2%+

™ kohg) - l«(‘\(ﬂ) = Rhe+5 = 2(x-3)F5 = 2x—6+5= 2x - |
So hok * koh .

-t ' 'S
@y EA LO’« () = h (k(ﬁ\) ~ RA+9
Leb L6 = hokt

16) = 2442 Suwose; (- 7%= 3 () =
‘d‘; RA+ .
-R = _ . {-R . . ~
(=22 x= 5 s fos
:)C (™) - 7(;.2
~) 2
= (l\ol() = X2
R
Kﬁ? k()= R +5 l’\(x) = x -3
Koy = x=5 ) = %+ 3
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l(o‘w(x) = Rx-|
[(ol'\—(l) - x4 |
R
L\(X) =X -3 J \((X) = 214— %)
b6 = x+3 k@ = *=5
R
l’\_‘ok'(ﬂ ~ W \('(ﬂ)
o X—S
= \4('1) +3 = 2 +3
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